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MATHEMATICS / 7Tford
Class — IX / shaIT— IX

Time allowed: 3 hours Maximum Marks: 90

fAuiRa w99 : 3 gue AfHaq 3w : 90

General Instructions:

(i) All questions are compulsory.

(ii) The question paper consists of 34 questions divided into four sections A,B,C and D. Section
A comprises of 8 questions of 1 mark each, section B comprises of 6 questions of 2 marks
each, section C comprises of 10 questions of 3 marks each and section D comprises 10
questions of 4 marks each.

(iii)  Question numbers 1 to 8 in section-A are multiple choice questions where you are to select
one correct option out of the given four.

(iv)  There is no overall choice. However, internal choice have been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

(v) Use of calculator is not permitted.

= A

(i) ) gz ifart € |

(i) sSHUH T # 34 yea &, N aR @uei @1, 9, 9 d7 § H gl T 8| TGvs — 1 H 8 g & RrH
AP 1 36 BT 8, WS — dH 6 U & N8 IS & 2 3 &, WS — d § 10 U9 & oW
UAH & 3 3P & TAT WIS — T § 10 U & N8 IS & 4 3d 8 |

(i) @vs o1 H Uz A=A 1 A 8 TP IgfAPHedd U & T&l 3ud! IR fdbedl § A Tb |l fddbed o=
2l

(iv) S ued o3 # &3 W 9auR fdwed 781 g8, oifd MalR® fdwed 2 3fdl & TH U H, 3 3fdl & 3
U3l H SR 4 3Bl & 2 Ul # AU MU B | YD U H TP fAHT BT ThT BN |

(v) dhegeiey BT YA affd 2|

Section-A

Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice.

The value of (81)016 X (81)09is :
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(Aa) 1 B) 3 C 9 (D)  81.07

(81)016 X (81)0.09 ST | BT :
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(A) 1 B) 3 © 9 (D)  81.07

The zeroes of the polynomial p(z) =(4z+ ) (z—4 =) are :

m m T m

(A) 4w, - 1 (B) —4r,— 1 ©) 4TT,Z (D)  —Admw,— 1
TEIR p(2) = (dz+7) (z—4m) h YLIHR T -
(A) 4,— % (B)  —dm— E () 47,2 (D) —dm— E
If f (x) =x%+2x+1is divided by x — 2, then the remainder is :
(A) 13 B) 5 © 11 D) -11
W&{f(x)zx3+2x+1aﬁx—2@ﬁﬂrﬁﬁmm?ﬁﬁw@m :
(A) 13 B) 5 © 1 (D) -11

The remainder when p(x) =3x3 —5x2—2x+1 is divided by x+ 1 is :

(A) 5 B) 3 © -3 D) -5

Ife FIT p(x) =3x3 — 52— 2x + 1 Fl x + 1 | fafom foran e 9rowe ©

(A) 5 B 3 © -3 o) -5

In the given figure AB|| CD and ‘I’ is transversal then value of ‘x’ is :

A= > o
AJre WY
(A) 26° (B)  36° Q)  45° (D)  90°

& g pfa § AB||CD A U e W@ g, @y A uE R
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B2

A= vy -
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(A) 26° (B)  36° (C)  45° (D)  90°

Two sides of a triangle are of lengths 7 cm and 3.5 cm. The length of the third side of the
triangle cannot be :

(A) 3.6cm (B) 4.1cm © 3.4 cm (D) 38ecm

Ife FAYSt st <1 eneT 1 w19 7 A 9 3.5 AAL 2, A AL S 1 A - T 2 Hehall |

(A) 369 (B)  419H (C) 349 (D) ~ 3.89.H.

If the length of median of an equilateral triangle is x cm. then its area is:

\/g 2 x2 X2

5
Ifg Tk THeTg IS 1 Afeaent x QAT ®, o SHH e BT ¢

(A)  x? (B)

N (B) §x2

(€) (D) —

&l
N

The Perimeter of an equilateral triangle is 60 m. Its area is :
(A) 1083 m> B 15Bm>  (©) 203m* (D) 1003 m?

Ifc THag s 1 9RAM 60 . 71, T SHRT &5Thel TR :

(A) 1032 (B) 1582 (C) 2032 (D) 1003 .2

Section-B

Question numbers 9 to 14 carry two marks each.

Express 0.47 in the form of b
q
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10.

11.

12,

13.

047 &1 P & =g & fafeu
q
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Factorise : 6x2+5x—6

TUHEUE hIfST : 632 +5x—6

When ax®+3x2— 20 and 2x° — 5x +a are divided by (x —2) the remainder is same. Find ‘a’.

ST FGRI ax3 +3x2—20 3R 2x3—5x+a Fl (x—2) ¥ fauifsd &0 W Iuwer w0 &, @ a H1 AW
1 RIS |

If a point C lies between two points A and B, such that AC=BC, then prove that AC= % AB.

Explain by drawing the figure.

W&"q’fﬁ@ﬁAaﬂIB%aﬂa@ﬁ@CW%ﬁﬁACﬂC%ﬁffﬁ@aﬁm%Ac=% AB T&
TR Wiee T8 T HIfaT |

PS is an altitude of an isosceles triangle PQR in which PQ=PR. Show that PS
bisects ~P.

gofgang faye, 598 PQ =PR, # PS t& o §1 <9iiza o War@s PS, /P &1 21ge 71

OR
In the given figure, if AB=CF, EF=BD and ZAFE= ZCBD then prove that

AAFE ~ ACBD.

3 Tt eTeRfa , afs AB = CF, EF =BD 3R ZAFE= £CBD %, i fag =ifsit AAFE >~ ACBD.
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14.

15.

16.
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oyt 4

Plot the points (0, —5) and (—2, —5) in the coordinate plane.

g 7 | fagad (0, —5) aun (—2, —5) =l fefuq sifse

Section-C

Question numbers 15 to 24 carry three marks each.

6 — 43

Simplify the following by rationalising the denominator :

6 — 43
a3 T, T T TRATHIIT hieh, LA hiflT |

OR
Find the value of :

4 1
-2 -3
(216)3  (256)4

M ATd HIT

4 1
-2 -3
(216)3  (256) 4

Represent 45 on the number line.

T Y W 4.5 # e i)

6+43 "
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17. Factorise 2\/5 x3 +8 y3 —-27 z3 + 18\/5 xyz .

TS FT : 242 2+ 8y7 27 B+ 182 xyz learncbse.in

OR
If £ (x) =x2—5x+1

Evaluate f(2) —f(-1) +f (%j

I f(x) =x2—5x+1, T F(2) —f(—1) +f@j <1 M 1 HITST |

18.  Evaluate using suitable identity 102° —2°,

YK HeHHeRT 1 ITAN A gL 102° — 2° 1 UM A1 HifST |

19. In the adjoining figure, AB||CD, CD||EF and y : z=3: 7, find the measures of x, y and z.

& ¢ efa H, AB||CD, CD||EF @y :z=3:7 %, @ X, y Tz % 7 90 &I |

.
-« o .-
..“.
!:‘
- — v
i " 5

OR
In the figure below show that AB||EF.
-d o
-
o ’
. -y .-
/ .
& O
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et srf #, fed fF AB||EF.

-0 learncbse.in
"““ ’ ’ -
/S w '
A
Fals .

20. In the figure given below, BO and CO are bisectors of /DBCand ~ECB
respectively. If /BAC =50°and ZABC =60° then find the measure of «BOC .

A
A
A
A,
l’.&’
LY -

l Y ) r .~'
. . =

o

sipfa # BO @ CO w®s: @w /DBCand Z/ECB & dHfguS®  ® Ifg
/BAC =50° and ZABC = 60° & @ «/BOC ! A9 J1d shife |

In the figure PQLPS, PQ||SR ZSQR =28° and ZQRT =65° then find the values of x and y.

a3 H PQLPS, PQ|SR, ZSQR =28° 3R ZQRT =65° | “x’ T ‘y/ %1 A TG HISIT |

22.  ABCis a triangle in which altitudes BE and CF to sides AC and AB i@gltahsﬁdﬁ §1é | N
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AB=AC.

T 1S ABC % ¥iieral BE el CF amAcamABmwmrgﬁ%?Fﬁ%ﬁféCi N

23.  In the given figure, find the values of x and y and then show that AB || CD.

24,
The sides of a triangle are in the ratio of 25 : 17 : 12 and its perimeter is 1080 cm.
Find its area.
T st i e 25 ;17 : 12 F oua § 1 afe 33 s =1 g 1080 cm #, & s9eh &ehet 3
HIfST |
Section-D
Question numbers 25 to 34 carry four marks each.
25,

\/az—b2 + a \/az+b2 —-b

Express :
Ja?+b®> + b a—va?-b?

in the simplest form .
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26.

27.

28.

29.

\/az—bz + a . \/a2+b2 —b
Ja24b2 + b a—ya?—b? learncbse.in

! TeH w9 H fad |

OR

Evaluate after rationalizing the denominator ( It is being given that

25
J40 — /80 j
J5 =2.236and 10 =3.162

Raﬂnﬁﬂaﬂwaﬂ[ 1 7 T Siferg | femm gem ® TR /5 = 2.236 91 10 =3.162

25
)

36 9 2

s (2] [2 5]

If the polynomials ax3 +4x2+3x —4 and x*>—4x +a leaves the same remainder when divided by
(x—23), find the value of a.

Ife A FGIRI axd +4x2+3x — 4 IR ¥ —4x+a Fl (x—3) § fauifsd s W Iuwe 99[ 2, @1 g
A A I |

Show that x>+ 1>+ 23—3xyz=%(x +y+ z)[(x —y)2+(y —Z)2+(z—x)2J

Tien f s 2040+ z3—3xyz=%(x+y+z)[(x—y)2+(y—z)2+(z—x)2}

Factorise 1% — 22 — 29y — 42 by using Factor Theorem.
TTHEE YHI & JaN 9§ OHETS it -
Y —2y2—29y—42

OR
Simplify : (2x + )3 — (2x —v)3.

T HINT : (2x +1/)3 — (20 —y)2. _
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30. In the given figure ABCD is rhombus with diagonals AC=16 cm and BD=8 cm. Find the

coordinates of A, B, C and D. |earanse.|n
Py
» ‘! ' '\ -

& TE empfa H ABCD Tk TH=gy © forad faamof AC=16 4.4 3iRBD=8 A.1. €1 A, B,CdD
famgatl & fdwiier 9@ wifsw |

. ‘l o.@ .:D\ .

31.  In the given figure the side BC of a AABC is produced to D, the bisector of
£ BAC intersects the side BC at E. Prove that

ZABC+ 2ACD=2 £ AEC.

-

& 7 stpfa #, AABC &t ysit BC &1 D sk sieran a1 1 ot BAC &1 gafgyrsiss BC @i fag E @
wfaese w1 §1 fag #itse s L ABC+ ~ACD=2 ~ZAEC.

e
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32. In the given figure, AC > AB and AD bisects angle A. Show that

Z/ADC> /ADB. _
learncbse.in

¢ W osmwfd § AC > AB § R AD, A w wHfgwa @ §1 swizg R
2ADC > ~ADB.

33. In the given figure, AB=CF, EF=BD and ZAFE = Z/CBD, prove that

(i) AAFE = ACBD and (ii) AE=CD

& T emepfa §, AB = CF a1 EF = BD iR ZAFE = Z/CBD % fag sifse & :

(i) AAFE = ACBD aw (ii) AE=CD %

34.
In the given figure, if two isosceles triangles have a common base, prove that

line segment joining their vertices bisects the common base at right angles.
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A

& TE eThfa B, Af < gAfgarg sl w1 MR TH @ T, @ Tag Fifew fF 3 wiel i e aret
SR h! THhIU R FHAGHITST hict § |
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